Parts List Page 1 sur 10
Order | 1C1021 CODACZHO00017 SWITCHING 1 E.S.D. 01
Order | 1C1102 CODBZMCO00006 SHUNT REGULATOR 1 E.S.D. 01
Order | 1IC1130 CODBAYY00624 DC-DC CONVERTER 1 E.S.D. 01
Or@égjr Change Q1'8§§N°- BSPBAO&@E%‘?' TRANSISTBﬁt Name & Description 1Qty ESD. Remarks o1 Diagram ID
Order | Q1023 B3PBA0000454 TRANSISTOR 1 E.S.D. 01
Order | Q1131 B1CHRDO000024 TRANSISTOR 1 E.S.D. 01
Order | Q1170 B1ADGF000010 TRANSISTOR 1 E.S.D. 01
Order | Q1171 B1BACG000058 TRANSISTOR 1 E.S.D. 01
Order | Q10101 B1ABDF000033 TRANSISTOR 1 E.S.D. 01
Order | QR1101 B1GBCFLL0042 TRANSISTOR 1 E.S.D. 01
Order | QR1131 B1GBCFNNO0041 TRANSISTOR 1 E.S.D. 01
Order | QR1170 B1GBCFJJ0040 TRANSISTOR 1 E.S.D. 01
Order | D1006 BOEDKTO000009 DIODE 1 E.S.D. 01
Order | D1012 BOHADV000001 DIODE 1 E.S.D. 01
Order | D1021 BOHADV000001 DIODE 1 E.S.D. 01
Order | D1023 BOBC03200002 DIODE 1 E.S.D. 01
Order | D1025 BOBA01600007 DIODE 1 E.S.D. 01
Order | D1026 BOACCKO000005 DIODE 1 E.S.D. 01
Order | D1027 BOHAGMO000006 DIODE 1 E.S.D. 01
Order | D1029 BOBA01200046 DIODE 1 E.S.D. 01
Order | D1031 BOACCKO000005 DIODE 1 E.S.D. 01
Order | D1032 BOACCKO000005 DIODE 1 E.S.D. 01
Order | D1110 B0JBSL000002 DIODE 1 E.S.D. 01
Order | D1131 B0OJCMDO000014 DIODE 1 E.S.D. 01
Order | D1132 B0OJCMDO000014 DIODE 1 E.S.D. 01
http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List

Page 2 sur 10

Order I D1171 BOBA02100019 DIODE E.S.D. 01
Order | D1172 BOBA03600021 DIODE E.S.D. 01
Order | D1173 BOAADMO000003 DIODE E.S.D. 01
Order | D1175 BOBA01800019 DIODE E.S.D. 01
Order | D1176 BOJAMDO000026 DIODE E.S.D. 01
Order | A\ (L1001 G0B233D00005 COIL 01
Order | A\ (L1002 G0B233D00005 COIL 01
Order | L1103 GOA100H00025 COIL 10UH 01
Order | L1105 GOA100ZA0045 COIL 01
Order | LB1021 JOJKB0000003 COIL 01
Order | LB1131 JOJHC0000048 COIL 01
Order | A\ [VA1001 ERZV05Z471CS VARISTOR 01
Order | A\ [T1001 G4D2A0000314 TRANSFORMER 01
Order | T1101 G4D1A0000129 TRANSFORMER 01
Order | A\ [F1001 K5G202Y00006 FUSE 01
Order | A\ [P1001 K2AA2B000017 AC INLET 01
Order | P1102 K1KY23AA0606 CONNECTOR(23P) 01
Order | P1103 K1KB12B00040 CONNECTOR(12P) 01
Order | A\ [c1001 FOCAF683A021 100V 0.068P 01
Order | A\ [C1005 F1B2G4710001 400V 470P 01
Order | A\ [C1006 F1B2G4710001 400V 470P 01
Order | A\ [C1009 FOCAF683A021 100V 0.068P 01
Order | C1014 F2B2W4700003 450V 47U 01
Order | A\ [C1018 F1BAF1020020 1000P 01
Order | A\ [C1019 F1B2G6810001 400V 680U 01
Order | C1021 F1B3D181A011 180P 01
Order | C1023 F1H1H471A792 50V 470P 01
http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 3 sur 10
Order I C1024 F1H1H101A004 50V 100P 01
Order | C1025 F2A1Vv6800002 35V 68U 01
Order | C1026 F1H1H222A013 50V 2200P 01
Order | C1031 F1B3D222A011 2000V 2200P 01
Order | Cl114 F1H1C104A071 16V 0.1U 01
Order | C1118 F2A1C1520021 16V 1500U 01
Order | Cl121 F2A1C1520021 16V 1500U 01
Order | Cl124 F1H1C104A071 16V 0.1U 01
Order | C1125 F2A1C102A236 16V 1000U 01
Order | Cl131 F1K1C106A062 16V 10U 01
Order | C1132 F1H1C104A071 16V 0.1U 01
Order | C1133 F1H1H153A013 50V 0.015U 01
Order | C1134 F1H1H120A004 50V 12P 01
Order | C1135 F1H1H221A004 50V 220P 01
Order | C1136 F1H1C104A071 16V 0.1U 01
Order | C1137 F1H1C104A071 16V 0.1U 01
Order | C1140 F2A1C8210008 16V 820U 01
Order | Cl141 F1H1C104A071 16V 0.1U 01
Order | C1172 F2A1V470A831 35V 47U 01
Order | C1173 F2A1H100B040 50V 10U 01
Order | Cl174 F2A1C221B111 16V 220U 01
Order | C1175 F1H1H392A013 50V 3900 01
Order | C1176 F2A1C221B111 16V 220U 01
Order | R1006 DOBF685JA030 6.8M 01
Order | R1011 ERG2SJ104P 2W 100K 01
Order | R1012 ERG2SJ104P 2W 100K 01
Order | R1013 ERG1SJ222E 1W 2.2K 01

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 4 sur 10
Order I R1022 ERX2SJR33E 2W 0.33 01
Order | R1023 ERJ3GEYJ103V 1/10W 10K 01
Order | R1024 ERJ3GEYG153V 1/10W 15K 01
Order | R1026 ERDS2TJ221T 1/4W 220 01
Order | R1028 ERJ6GEYJ100V 1/8W 10 01
Order | R1029 ERJ6GEYJ100V 1/8W 10 01
Order | R1030 ERJ3GEYJ392V 1/10W 3.9K 01
Order | R1032 ERJ3GEYG472V 1/10W 4.7K 01
Order | R1033 ERJ3GEYG472V 1/10W 4.7K 01
Order | R1041 ERJ3GEYJ104V 1/10W 100K 01
Order | R1042 ERJ3GEYJ104V 1/10W 100K 01
Order | R1104 ERJ3GEYJ472V 1/10W 4.7K 01
Order | R1111 ERJ3GEYJ102V 1/10W 1K 01
Order | R1112 ERJ3GEYJ222V 1/10W 2.2K 01
Order | R1113 ERJ3GEYJ103V 1/10W 10K 01
Order | R1115 ERJ3RBD472V 1/16W 4.7K 01
Order | R1116 ERJ3GEYJ222V 1/10W 2.2K 01
Order | R1118 ERJ3RBD331V 1/16W 330 01
Order | R1119 ERJ3RBD183V 1/16W 18K 01
Order | R1131 ERJ3GEYG333V 1/10W 33K 01
Order | R1132 ERJ3GEYG272V 1/10W 2.7K 01
Order | R1133 ERJ3GEYG103V 1/10W 10K 01
Order | R1134 ERJ3GEYG224V 1/10W 220K 01
Order | R1135 ERJ3GEYG273V 1/10W 27K 01
Order | R1136 ERJ3RBD273V 1/16W 27K 01
Order | R1137 ERJ3RED474V 1/16W 470K 01
Order | R1138 ERJ3RBD273V 1/16W 27K 01

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 5 sur 10
Order I R1139 ERJ3RED474V 1/16W 470K 01
Order | R1141 ERJ3GEYJ224V 1/10W 220K 01
Order | R1142 ERJ3GEYG823V 1/10W 82K 01
Order | R1143 ERJ3RED474V 1/16W 470K 01
Order | R1144 ERJ3GEYG562V 1/10W 5.6K 01
Order | R1145 D1BFR0270001 1/2wW 0.027 01
Order | R1171 ERJ3GEYJ472V 1/10W 4.7K 01
Order | R1172 ERJ3GEYJ472V 1/10W 4.7K 01
Order | R1173 ERJ3GEYJ562V 1/10W 5.6K 01
Order | R1174 ERDS2TJ470T 1/4W 47 01
Order | R1176 ERJ3GEYJ471V 1/10W 470 01
Order | W201 ERJ6GEYOROOV 1/8W 0 01
Order | ZA1001 K9Z700001279 EARTH PLATE 01
Order | ZA1022 XYN3+J8FJ SCREW 01
Order | ZA1023 VSC5603-A HEAT SINK 01
Order | ZA1111 XYN3+J8FJ SCREW 01
Order | ZA1112 VSC6221 HEAT SINK 01
Order | S7551 EVQ11A05R SWITCH 02
Order | IC7001 COHBB0000061 Display/LED Drive IC E.S.D. 03
Order | S7001 EVQ11A05R SWITCH 03
Order | S7002 EVQ11A05R SWITCH 03
Order | S7003 EVQ11A05R SWITCH 03
Order | LB7003 JOJYCO0000070 COIL 03
Order | DP7001 A2BD00000195 DISPLAY TUBE 03
Order | IR7001 PNA4861MO1VT IR RECEVER IC 03
Order | P7001 K1KA12B00136 CONNECTOR(12P) 03
Order | PJ7004 REZ1970 WIRE 03

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 6 sur 10
Order I C7002 F1H1A105A028 10V 1U 03
Order | C7004 F1H1C104A071 16V 0.1U 03
Order | C7005 F1H1H104A783 50V 0.1U 03
Order | C7006 F1H1C104A071 16V 0.1U 03
Order | R7002 ERJ3GEYJ622V 1/10W 6.2K 03
Order | R7003 ERJ3GEYJ222V 1/10W 2.2K 03
Order | R7005 ERJ3GEYJ330V 1/10W 33 03
Order | R7009 ERJ3GEYJ104V 1/10W 100K 03
Order | W751 ERJ6GEYOROOV 1/8W 0 03
Order | ZB7001 RMNO0937-J FL HOLDER 03
Order | 1 VEP71166D POWER P.C.B. (RTL) E.S.D. M1
Order | 2 VEP70320B POWER SW P.C.B. (RTL) E.S.D. M1
Order | 3 VEP70321E FL P.C.B. (RTL) E.S.D. M1
Order | A4 RGR0397D-A1 REAR PANEL 65EG,EB,EF M1
Order | A4 RGRO397E-Al REAR PANEL 45EG,EB,EF M1
Order | A4 RGRO397E-D1 REAR PANEL A5EE M1
Order | 5 RMX0437 INSULATION SHEET M1
Order | 6 RMZ1082-J BARRIER M1
Order | 7 RSC0851 HEAT TRANSFER SHEET M1
Order | 8 RSC0854 HEAT TRANSFER SHEET M1
Order | 9 RGQO0564-KJ LSI COVER M1
Order | 10 RKA0206A-KJ LEG M1
Order | 11 RKA0206A-KJ LEG M1
Order | 12 RKA0206A-KJ LEG M1
Order | 13 RKA0206A-KJ LEG M1
Order | 14 RYP1557-K FRONT PANEL ASS’Y 1 65EGK,EBK,EFK M1
Order | 14 RYP1561-S FRONT PANEL ASS’Y 1 65EGS M1

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 7 sur 10
Order I 14 RYP1552-K FRONT PANEL ASS’Y 1 45EGK,EBK,EEK,EFK M1
Order | 14-1 RGU2670-KJ OPEN/CLOSE BUTTON (-K) M1
Order | 14-1 RGU2670-SJ OPEN/CLOSE BUTTON (-S) M1
Order | 14-2 RGU2671-KJ PLAY BUTTON M1
Order | 14-3 RGU2672-KJ POWER BUTTON (-K) M1
Order | 14-3 RGU2672-SJ POWER BUTTON (-S) M1
Order | 14-4 RKF0872-KJ SD CARD / USB DOOR (-K) M1
Order | 14-4 RKF0872-SJ SD CARD / USB DOOR (-S) M1
Order | 14-5 RYF0886-K TRAY DOOR ASS’Y BD65 M1
Order | 14-5 RYF0885-K TRAY DOOR ASS’Y BD45 M1
Order | 14-6 RYQO0749-Q FRONT WINDOW ASS’Y BD65 M1
Order | 14-6 RYQO0748-Q FRONT WINDOW ASS’Y BD45 M1
Order | 14-5-1 RMB0877 TRAY DOOR SPRING M1
Order | 18 RKM0623-KJ TOP CASE (-K) M1
Order | 18 RKM0623-SJ TOP CASE (-S) M1
Order | 19 RFKNBD45EGT BDP/DIGITAL P.C.B. MODULE 45EG E.S.D. M1
Order | 19 RFKNBDA45EFT BDP/DIGITAL P.C.B. MODULE 45EF E.S.D. M1
Order | 19 RFKNBDA45EBT BDP/DIGITAL P.C.B. MODULE 45EB E.S.D. M1
Order | 19 RFKNBDA45EET BDP/DIGITAL P.C.B. MODULE 45EE E.S.D. M1
Order | 19 RFKNBD65EGT BDP/DIGITAL P.C.B. MODULE 65EG E.S.D. M1
Order | 19 RFKNBD65EFT BDP/DIGITAL P.C.B. MODULE 65EF E.S.D. M1
Order | 19 RFKNBD65EBT BDP/DIGITAL P.C.B. MODULE 65EB E.S.D. M1
Order | 19-1 VWJ2058-1 FFC(18P) M1
Order | 19-2 RFKB76200FT DIGITAL P.C.B. 65EG (RTL) E.S.D. (JIG and ADJ.) M1
Order | 19-2 RFKB76200LT DIGITAL P.C.B. 65EB EF (RTL) E.S.D. (JIG and ADJ.) M1
Order | 19-2 RFKB76200CT DIGITAL P.C.B. 45EG (RTL) E.S.D. (JIG and ADJ.) M1
Order | 19-2 RFKB76200KT DIGITAL P.C.B. 45EB,EE,EF (RTL) E.S.D. (JIG and ADJ.) M1

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 8 sur 10
Order I 19-3 VXY2079T DRIVE UNIT (JIG and ADJ.) M1
Order | 31 RHD30101-1 SCREW M1
Order | 32 RHD30101-1 SCREW M1
Order | 33 RHD30101-1 SCREW M1
Order | 34 RHD30101-1 SCREW M1
Order | 35 RHD30101-1 SCREW M1
Order | 36 RHD30101-1 SCREW M1
Order | 37 RHD30101-1 SCREW M1
Order | 38 RHD30101-1 SCREW M1
Order | 39 RHD30101-1 SCREW M1
Order | 40 RHD30101-1 SCREW M1
Order | 41 RHD30119-L SCREW M1
Order | 42 RHD30119-L SCREW M1
Order | 43 RHD30119-L SCREW M1
Order | 44 RHD30119-L SCREW M1
Order | 45 XSN3+4FJ SCREW M1
Order | 46 RHD26045 SCREW M1
Order | 47 RHD26045 SCREW M1
Order | 48 RHD26045 SCREW M1
Order | 49 RHD30113-1K SCREW (-K) M1
Order | 49 RHD30113 SCREW (-S) M1
Order | 50 RHD30113-1K SCREW (-K) M1
Order | 50 RHD30113 SCREW (-S) M1
Order | 51 RHD30119-L SCREW M1
Order | 52 RHD30119-L SCREW M1
Order | 53 RHD30119-L SCREW M1
Order | 101 VQL1V70 LASER CAUTION LABEL M2

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 9 sur 10
Order | 102 VMAOV86 YOKE M2
Order | 103 VMD5751 UPPER BASE M2
Order | 104 VMD5752-1J DRIVE GEAR M2
Order | 105 VMT1981 DUST COVER A M2
Order | 106 VMZ3737-J CLAMP COVER M2
Order | 107 VXA8619 TRAY ASSY M2
Order | 108 XTV26+10GFJ SCREW M2
Order | 109 XTV26+10GFJ SCREW M2
Order | 110 XTV26+10GFJ SCREW M2
Order | 111 XTV26+10GFJ SCREW M2
Order | 112 VMD5753-1 MID BASE M2
Order | 113 VDG1713-J PULLEY GEAR M2
Order | 114 VDG1714 MID GEAR M2
Order | 115 VDG1715-J DRIVE GEAR M2
Order | 116 VEMO0871 LOADING MOTOR ASS’Y M2
Order | 117 VHD1653-1 SCREW M2
Order | 118 VMD5748-1 MECHA CHASSIS M2
Order | 119 VMD5749 SLIDE CAM M2
Order | 120 VMG1809 BELT M2
Order | 121 VMT1982 DUST COVER B M2
Order | 122 VHD1518-1 SCREW M2
Order | 123 VHD1518-1 SCREW M2
Order | 124 VHD1518-1 SCREW M2
Order | 125 VHD1518-1 SCREW M2
Order | 126 VMG1883 DAMPER M2
Order | 127 VMG1883 DAMPER M2
Order | 128 VMG1883 DAMPER M2

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



Parts List Page 10 sur 10
Order I 129 VMG1883 DAMPER M2
Order | A (AL RJA0043-1C AC POWER SUPPLY CORD 65EG,EF, 45EG,EE EF M3
Order | A (AL K2CT2YY00003 AC POWER SUPPLY CORD 65EB, 45EB M3
Order | A3 N2QAKB000077 REMOTE CONTROL BD65 M3
Order | A3 N2QAKB000079 REMOTE CONTROL BD45 M3
Order | A3-1 100300055200 BATTERY COVER M3
Order | A (A5 VQT2L13 OPERATING INSTRUCTIONS 65EG, 45EG (IA) M3
Order | A (A5 VQT2H96 OPERATING INSTRUCTIONS 65EG, 45EG (IB) M3
Order | A (A5 VQT2H94 OPERATING INSTRUCTIONS 65EB, 45EB (IC) M3
Order | A (A5 VQT2H95 OPERATING INSTRUCTIONS 65EF, 45EF (ID) M3
Order | A (A5 VQT2H97 OPERATING INSTRUCTIONS 45EE (IE) M3
Order | A6 VFF0537 CD-ROM 65EG, 45EG M3
Order | PC1 RPFDO0009 POLYETHYLENE BAG 65EG, 45EG M3
Order | PC1 RPFDO0008 POLYETHYLENE BAG 65EB,EF, 45EB,EE EF M3
Order | PC2 RPQ2627 PAD M3
Order | PC3 RPF0488 MIRAMAT BAG M3
Order | PC4 RPG9025 PACKING CASE 65EGK M3
Order | PC4 RPG9059 PACKING CASE 65EGS M3
Order | PC4 RPG9061 PACKING CASE 65EBK M3
Order | PC4 RPG9060 PACKING CASE 65EFK M3
Order | PC4 RPG9026 PACKING CASE 45EGK M3
Order | PC4 RPG9063 PACKING CASE 45EBK M3
Order | PC4 RPG9027 PACKING CASE 45EEK M3
Order | PC4 RPG9062 PACKING CASE 45EFK M3
Order | PC5 RPN2148-J CUSHION M3
Order | PC7 XZB15X30A04Z POLYETHYLENE BAG M3

http://tda.panasoni c-europe-service.com/docs/2z4bb1f5eez1z2e31bz6672z786d6cz24zf 45d52d840e66ce37dcd9adOf cff 23fb2ab9f 1 7b/tsn...  30/03/2010



